BA 353: PERT/CPM “Crashing”

Crashing:

The data below represent a project that can be completed at normal cost in 15 days.  The project can be speeded up (or “crashed”) by spending more money on each activity.  For example, activity A currently takes 5 days, but can be reduced to 4 days for $1000, 3 days for $2000, and a minimum time of 2 days for $3000.

	Act.
	I.P.
	Norm Time
	Crash Time
	Cost / Day

	A
	--
	5
	2
	$1000

	B
	--
	3
	2
	$500

	C
	A
	6
	4
	$700

	D
	B
	7
	3
	$900

	E
	C,D
	4
	2
	$600


a) Which activities should be crashed to complete the project in 13 days at minimum additional cost?

b) Which activities should be crashed to complete the project in 10 days at minimum additional cost?

c) What is the minimum completion time for the project and how much will it cost?

Names _____________________________

ICE 7
1) For the project data below, determine (a) the normal project completion time, (b) how much extra it will cost to finish the project in 13 days, and (c) the minimum completion time with associated extra cost.

	Act.
	I.P.
	Norm Time
	Crash Time
	Cost / Day

	A
	--
	9
	5
	$750

	B
	--
	5
	3
	$600

	C
	B
	6
	3
	$1250

	D
	B
	9
	6
	$900

	E
	A,C
	5
	4
	$800


a) Normal completion time? 

b) Cost to crash to 13 days? 

c) Minimum completion time and cost?

2) For the information below, determine how much extra each additional day crashed will cost, down to the minimum completion time.  Fill in the table on the right.  I have done the first one for you! 
	Act
	I.P.
	Norm

Time
	Crash 

Time
	Cost/

Day

	A
	--
	5
	3
	$800

	B
	--
	4
	2
	$250

	C
	A
	3
	2
	$1500

	D
	B
	7
	4
	$1200

	E
	B
	9
	5
	$500

	F
	C,D
	4
	1
	$600


	Days
	Cost

	15
	$0

	14
	

	13
	

	12
	

	11
	

	10
	

	9
	

	8
	

	7
	


